10127 (K10n16)
/“(\

/
/\/ / Solving Sequence

14—2—>5—>38—>7—10—6—>9 —> €2,C5,C8
c1 Cy c3 cr C10 Ce C9

Linearized knot diagam

D R

2 8 10 1 2 6 7

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar
6ult +- 4207, u® + 3P+ +3u+1)

It = (=3u"® —8u'" + ... +2b— 5, —3u'® —
I'=0b-aa*—a—1,u—1)

* 2 irreducible components of dim¢e = 0, with total 18 representations

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter)
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin
1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L I} =
(—3u'®—8ul*+...+2b—5, —3u'®—6u'*+..-+2a—7, u'®+3u®+-.-+3u+1)

(i) Arc colorings

o ()

0
ay4 = u
1
a2: u2
—u
as = \ —ud +u
ud
as = (u5—u3+u>
Sut® 4 3ul + +u+§5
as = %u15—|—4u14+'--—|—3u+§
3ut® + Tult 4+ 4u+ 6
ar= \Su"® +4u' + .- +3u+ 2
ul® +2u + - 4 du+ 1
a9 = %u15+u14++2u+%
—lu15—ul4—|—---—3u+%
ag = \ —Lyl5 iy L
3,15 14 9
1§u 4u® + ';1u—73
ag = uld — gt g g2 78
(ii) Obstruction class = —1

(iii) Cusp Shapes = —u!® — 3u!? + u!'3 + 12u!? + 10u!! — 19110 — 2902 + 10u® +
440" + 4u® — 40u® — 18u* + 26u> + 19u? — Tu — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy wl® —3u® .. —3u+1
Co,C8 b — w4+ du+4
3 u'® 4+ 5ut 15 1
& u'® —2ut o 2u 1
Cg, C7,C9 u16+2u15+--«—6u2+1
C10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C4 o — byl + .. — 15y +1
c2,C8 Yt — 15y ... — 152y + 16
€3 y'O + 15y + - = T5y + 1
Cs YO8yt - — 12y + 1
€6, C7,C9 Yy — 18y 4. — 12y + 1
C10




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

u = 0.817221 4 0.6505171
a= 0.69329 + 1.388741
b= —1.47026 — 0.078761

—6.61455 — 2.488471

—10.73866 + 2.852891

u = 0.817221 — 0.6505171
a= 0.69329 — 1.388741
b= —1.47026 + 0.078761

—6.61455 4 2.488471

—10.73866 — 2.852891

u = 1.09835
a = —0.682687
b= —0.347472

—2.11624

—0.212820

u = —0.616496 4 0.9765821
a = —0.323356 — 0.1802391
b= 1.45750 4 0.225981

—0.88412 — 2.455441

—7.41928 + 0.955511

u = —0.616496 — 0.9765821
a = —0.323356 + 0.1802391
b= 1.45750 — 0.225981

—0.88412 + 2.455441

—7.41928 — 0.955511

u = —0.839144 4 0.9058301
a= 0.354184 4 0.7479301
b= —-0.427794 — 0.7122681

5.17546 + 0.915301

—4.32887 + 0.197161

u = —0.839144 — 0.9058301
a= 0.354184 — 0.7479301
b= —0.427794 + 0.7122681

5.17546 — 0.915301

—4.32887 — 0.197161

u = —0.997540 + 0.8479711
a = —0.383254 — 1.1817001
b= —0.593993 + 0.6774971

4.68170 + 5.571311

—5.69073 — 5.477731

u = —0.997540 — 0.8479711
a = —0.383254 4 1.1817001
b= —0.593993 — 0.6774971

4.68170 — 5.571311

—5.69073 + 5.477731

u = —0.688577
a = —2.20439
b= —1.64693

—9.85589

—4.30720




Solutions to I V—1(vol + /—1CS) Cusp shape
u= 1.35209
a= 1.39091 —8.27471 —10.1750
b= 1.48463

u= 0.549818 4+ 0.3272811
a = —0.426191 — 1.3228201
b= 0.349186 + 0.3382181

—0.629599 — 1.1023801

—6.95123 4 6.202161

u=0.549818 — 0.327281]
a = —0.426191 + 1.3228201
b= 10.349186 — 0.3382181

—0.629599 4 1.1023801

—6.95123 — 6.202161

u = —1.127720 4+ 0.7796151
a= 0.38145 + 1.568571
b= 1.56155 — 0.222781

—2.44912 + 8.896821

—9.23385 — 5.217271

u = —1.127720 — 0.7796151
a= 0.38145 — 1.568571
b= 1.56155+ 0.222781

—2.44912 — 8.896821

—9.23385 4 5.217271

u = —0.334148
a= 1.90392 —1.34177 —6.57950
b= 10.757410




I. Iy =(b—-a,a®*—a—1, u—1)

(i) Arc colorings

o= (o)

ayq =
a9 =

as =

ag =

a7 =

(
(
(
w- )
(2
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 (u—1)2
Co, Cg u
Cq 1)2
(u+1)
2
Cs,Cg, CT u+u—1
Cg, C10 u—u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C3,C4 (y_l)
C2,C8 y2
Cs5,Ce6,C7 y2—3y+1
Cy, C10




(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol ++/=1CS) Cusp shape
u = 1.00000
a = —0.618034 —2.63189 —17.0000
b= —-0.618034
u = 1.00000
a= 161803 —10.5276 —17.0000
b= 1.61803
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

! (u—1)*)(u'® = 3u® 4+ —3u+1)

C2,C8 u?(u'® —u'® 4 - du+ 4)
s (u— 1)) (u'® + 5u'® + - 4+ 15u + 1)
4 (u+ 1)) (u® = 3u® 4+ —3u+1)
& (u? +u—1)(u® —2u'® +. 4 2u41)

Cce, C7 (u? +u—1)(u® +2u'® + ... —6u® 4+ 1)

€9, C10 (u? —u—1)(u® +2u'® + - —6u® 4+ 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢4 (y =D (y" =5y + -+ — 15y + 1)
¢, Cs y?(y'S — 159" ... — 152y + 16)
€3 ((y = 1)) (y" + 15y + - = 75y + 1)
Cs (v* =3y +1)(y" + 18y + - — 12y + 1)
Ce, cncjz (y2 — 3y + 1)(y16 _ 18y15 4o — 12y + 1)
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